Name:

DAY

Use the Distributive Principle to do each multiplication problem below.

SIMPLIFY EXRESSIONS

~
3(2x-5)= 6%-I5
S5(bx-4)=30x -20
~ A
(Ba+4b)2=6a +8b
(x+5)10 = \0x « S0

{{3ny +5) = 12x-tty +20
3(3x-y+5)= S~ '5':) +as
6(3x-y+5)= \%1-(93 t30
(3x-y+5)7= 3\1-*?J 139

<
“5(2x-H4) = ~10%+20 |

H(3y+5)=-\2y- 20
"3(2a.-5b) = <bat\Sh

(a+x)8= A4Y-g

'4@2)’-'!2:%247&-8
“5(3x -bx +2)= KA 430 - (0
T1(3xr-bx +2)= ~30 4bx -2
(3x*-bx +2)(710) = -0A* 4602t -20

(2x=7)x = 2x2-Tx
(3y +5)y = 3\5"&6\)
%(5 -8*,) = 6‘;-%11

xy (3x +‘-iy)='b£\l+‘|15

ym'ﬂ - 233‘% 313-'15

R(2y% +3x-4) = 2ay" 432" b
(2y=+ 3x~ 4)1){ & 21.33-}3117 -‘11.)!
x’-(2y= +3x-4) = '27,‘\,"'-! Y -Yo4?

5@7) = 2037-354
Ba(4a+2) =20 +ba
Hx(xz-5)= Yo" - %
(2x+1)2x2= My + 2y
(3y=6)(-5y) = -\Sy 20,

-

7x(3x + 4y) = Wy 12y

Bm?r.‘.) = \Za'~-ab tHae

Sy (3x +Hy - 8) = \S3y + 204" -40y
2xy (3x + Hy -8) = bty + ¥ay" - ety
(7x2-5x%-6) bx* = Y24 304>~ 3bs"
“Hb(a-3b+c) = ~Yah 420" - Wbe

4) Ixy (3x2y + 2xy2+x2) = ‘211"3"4-\‘11‘\,31-1;’
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SIMPLIFY EXRESSIONS D) \j % Name:

Write a polynomial for the area of each rectangle.

2x+5
. N A= 3x(2x +5)
= oxt + 15%
2x +5
A= 25314
2x 2x
- = G 452
3 e 3 A=23(6z-1)
= R1-3
6 — 1
2r+7 A= ?(2‘_*})
2r+7 - lgf *?T
. ) A= 3z(2-2)
. = 97" -G
n +4
' P\= Bn (q“"""‘l)
=90 + on
n+4
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SIMPLIFY EXRESSIONS Name:

Multiply each pair of binomials. Remember to multiply each term in the first binomial times
each term in the second binomial.

(2%-3)(5%x+4) =10x*+8x-15x~12

*|Ox*~7~12
Bx-1(Hx+3) = L -
x X o :"l:l Y- 3 (3x-4) = (3x-H4)(3x -4
=121 451 -% = 9x*-12x-12x +1b
(ox+1)(2x+3) = 1L +\§14244 3 = 9xt-24x+ b

=\ 4o +d (5%+2)'= (Gra2)G4r)

(5x+3)(3x+4) = L +201+41 +1) ~ 2557 A loA 0 +Y
St ¢ A1) = 255 A 2034\

(2x-3)= (21-FY22-%)
- l{wtwgi'Gl *’q
- |117' - \24 *'q
& -]) = "-'\‘1" | 1
{4 ~1){3x~= 1 -\1‘1 31 ¢ Ux+ () = (,“'iﬂl\“'ﬂ)
=\21® - 3y 4\
=\t 4 Yo #Y1 ¥

(3%-5)(2x-5) = ba* -\sa-b1 425 = (bd? * Y1+

=Ly -
bx* - AL A2y (B3x-7= (3a-3Yp3-¥)
- C‘-L"-' Al - 2 *‘lq

— 3t -2 449

K2x+5)x-3) = 24%-by¢52 -I§
=0t - x-S

(Hx-3)(x+3) =\p24\34-32-19
= Y4* 1%x -9

BGx+4)(3x-4) = -13+\22 ~ b
=qx -k
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SIMPLIFY EXRESSIONS E J i\/j >> Name:

Write a polynomial for the area of each rectangle.

x+4
Az(x-2)(x+4)
x-2 x-2 s x*+Y4x-22-8
x+4 = “14.2’.-8

= A - (1-u)1+3)

x-4 -4 %3’1*'41,\‘1’28
x+7 - 11 % 31'29
x+2
A= (g4u)2+2)
red el Ty 4 2atYa
=y +061+«§
x+2
x+3
A= (nexY 3¢
x+3 x+3 -.’;a"-# 314’31“ q
= 5¥4 bd ¢9
x+3
x+6
- » A= (1 )a-)
ca*-1+bn b
x+6

':'—11'4(§'1.-G:
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